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General Instructions
gfterrefl werdsta 3ruel ereEl #H & IR < |
Candidates are required to give their answersdir titwn words as far as practicable.
A geaus # & gu ‘A’ vd ‘B’ ¥ wd =t gul & At wedl @ Iww e
siferaf 21
i) I A @RfaeRt ud e - 54 3w
i) o B (Ghg fasme) - 26 3w
The question paper has two Groups and ‘B’ and it is compulsory to answer all the
question of both the Groups.
i) Group ‘A’ (Physics and Chemistry) — 54 Marks
ii) Group ‘B’ (Biology) — 26 Marks
Ui uesl & foru fereriRa 3ies o @mwer 3ifea €
Marks allotted to each question are printed agatinst
ueell B 3ITT ueal @ Iy i ot ferder @ aneies H & forst
Write the answers of questions in the context sfrirctions given with the questions.
Fft 3B B uee—ds-3wr gRawr @ 3ig # Ru ov ysh uw &
31T BET STET |
Do all rough work on the last pages of the Questiam-Answer Booklet and nowhere else.
BE Ul # Abfoud et Tuer G oy Fi TA weal H 3uwmr R’Y oy =wrer
# J BaeT UH uea & Beem |
Internal options have been given for some questigns are to attempt only one option in
such questions.
PYT A P U HFHAT 1 A 10 Tb 3T Pgu B B uewm Fm@T 27 F 31 G
T og ITHT UBR B U E1 T Ul P IAT UHd TP qE A 3erdm
T gty #F e B
Question Nos. 1 to 10 of Group A and Question Nsto 31 of Group B are ‘very short
answer’ type questions. Answer these questionaéwmrd or in one sentence each.
gU A B U FIAT 11 F 18 3R PU B B ued I3 32 F 36 a® ‘TY
FAST-1l° U B Ueel & | Sof ULl B IAT USd 30 A 40 &l H oA B
Question Nos. 11 to 18 of Group A and Question N8&sto 36 of Group B are ‘short
answer-1I' type questions. Answer each one ofdlmsestions in 30 to 40 words.
gU A B U FIA 19 A 24 3T gu B B ued Fm 37 A 38 ‘TY
ITNT-|° UBRT B U E| ToT ULl B IAT UR™DB 40 A 50 =l H o B

Question Nos. 19 to 24 of Group A and Question B@sto 38 Group B are ‘Long answer-
I" type questions. Answer these questions in 48Qtavords.

gu A D Ued AW 25 A 26 3R PT B P ued Fzm 39 dd zwEwe
UpR D Ul &1 ST UQell @ 3T U oforslal 70 oIal H aa &

Question Nos. 25 to 26 of Group A and Question N&sof Group B are ‘Long Answer’
type questions. Answer these questions in 70 weadhb.

Sief wEl off Rsr araews &, 3@ IaTEaT B TR I U AFA I

Draw neat and clean diagrams wherever necessary.

Group —A & B Physics & Chemistry
TU-A&B (Wfad) vad @)

M SUUT BT BIbd g (+) R Iehal a1 (R) & 919 T

Pl

fIRau | (SR U s 1 Udh a19d H TIfoI)

Write the relation between focal length (f) andiuvadf curvature ® of
spherical mirror. (Answer in one word or in onetsace)

g BT HIeT Bl e G gy | (STR U g AT T a1
# Q)

Write the Chemical formula of washing Soda. (Answeone word or
in one sentence)
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fIe]d ORT SU~ HRA B Jfdd DI T Fed & ? (STR T I
I UH qrag H SR

What is the name of the device used for generaiecfric current.
(Answer in one word or in one sentence)

TP U M T A gy T A4 arawern # U Ol 7 |
(SR U I I7 & 919 H <Io)

Name any one non-metal which is found in gaseais.sfAnswer in
one word or in one sentence)

A o &1 T Iard Sl faga Holl b1 Afe ot H agerd]
2| (SR UH o< a1 U qrad H SIfvTg)

Name the device which converts electric energy Mézhanical
energy. (Answer in one word or in one sentence)

MY 3mad ARV § el HI F&=AT fhal & ?

(STR Ud ¥ IT & a19d H TIRI)

There are how many groups in the modern periodiieta

(Answer in one word or in one sentence)

AR BB & oI B9 AT YT UG Bl & 7 (STR T e AT
U 91 H SIRQ)

Which mirror is most useful for solar cooker ?

(Answer in one word or in one sentence)

39yl H1 M qarsy ol FaRA | fohar ek fakeid ol
AT 27 (STR UP e AT TS d1ad H QI

Name the substance which on treatment with chaoyialds bleaching
Power.

(Answer in one word or in one sentence)

DI T ol Fid AR I Fed~ el Bl & 7 (SR U ]
I UH qrag H SR

Which is not ultimately derived from the Sun’s egjye? (Answer in
one word or in one sentence)

S & TP | DI AT I (G I8aT & ? (STR TP 98 T
U% qrqg | TIRT0)

Which type of acid is present in the sting of &t.(Answer in one
word or in one sentence)

Jadel U H g9d Y ufcfem &1 U w@es fhRur IR Fifg
T IR DI Ihl D AR A D drd QT AT B |

Draw a neat ray diagram of an image formed by mcawe mirror
when the object is placed between centre of curgand infinity.

fou v o &7 rgATHT BT AR YT BT IR SIS0 —

N
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() o 7 59 veR & I™afae arfifpar <o TS 2 P
(i) 39 3AAfhar o1 Fferd TS FHHR0T foffg |

Observe the given diagram and answer the questions

(1) Which type of reaction is shown in the diagram ?

(i)  Write the balanced chemical equation of this reacH
GG R & ? SADI AR $ fHIr e & ? (STR 30
q 40 wreal H EIRTO)

What is myopia? How is it corrected ? (Answer int@@0 world)

S fragS R B ? o SHIEH! SRSl BT SerExvl
AT | (STR 30 I 40 =l H ARM0)

What is amphoteric oxide? Give its two examples.

e faga uRui § ofied HaIe &1 SUANT @l T8l fdhar

NI

Why is the series arrangement not used for domeistigits ?
MR HRS FT & 2

What are Oxidising agents ?

AABT Foll F FIT FHSI & 7 SHBT T 8T © 2

What do you mean by nuclear energy ? What arenp®rtance ?
A% BT et ARV SR D e AR # iR ford |
Compare and contrast the arrangements of elemanteendeleevs
periodic table and the modern periodic table.

JMTHTT |

dr feafears € @ ? (STR 30 A 40 Feal H ARY)

Stars twinkle in the sky, why ? (Answer in 30 toworld)

ffefafed § ge @& fou Ue wgford wamfe  adieRor  1+1+1=3

(i)
(if)
(iif)

Y Irfafhar
faare= srfafaar
e rfafshar

Write a balanced chemical equation for each ofalewing-

(i)
(i)
(iii)

Redox reaction
Decomposition reaction
Substitution reaction.



21 ey & w9y A XM 1 U BT & 7 (STR 40 W 50 vl 3
§ AfTg)
Why does the Sun appear reddish early in the mgrhin

22 IHfdd STt A= &1 @t i el BIaT Wdfd 9l il BT &7 3
PHROT g1 |
Why does distilled water not conduct electricityhexeas rain water
does. Gives reason.

23 YT o1 aHEw FraH foiey | 3
State Fleming’s left hand rule.

24  |Ig 3R UATSIH H T AR farRag? 3
Write three differences between soap and detergent.

25 YIgfid @9 @ R ? 3
What is natural selection ?

26  fTHfIRIT YAl BT IR HIRUT Aled Id19 © 1/ve+1/44+2=5

() afeTq o1 AR d SIrr T @7 SIrr © 2 1%

(i) <° & ST H =@ B v I TR garsy | 1/%»

(i) <TETAS TURET & IMMER R oTq Ud Mg H faWg BTy | 2
Give the reason of following questiond/f/2+1/44+2=5

()  Why is Sodium kept immersed in Keraseno oil. 1/

(i)  State two ways to prevent the rusting of iron. 1/

(i)  Differentiate between Metal and Non-Metal on theiaf their 2

Chemical properties.
3dT OR
X UH HEAS AMe 8 T $EE & I O=RA1] 8| I8
HN P dY W & B & AR AR ST TR A=A,
HHURY 3T # Bar 2|
(i) X' BT IUPAC ¥ T IS G oy |
(i) X A sAH DA FET ? ARG FHIGI b A1 fIRau |
(i) X ¥ fds Aearel e g ?
Group — B (Biology) #u— B (shafasm=)
27 <1 dfxdr HIR@RT o gRERl & A wId B /&1 dEd § ? 1
(SR U I IT & d1ad H SIfig)
What is the name of the junction place of dendmtesvo nerve cells ?
(Answer in one word or in one sentence)
28 Irc VDT A fha fafy gRT i S99 81 8 ? ([STR Udh 1

Ieg AT Udh arad | SIfT)

29 99 Y9 H SFUMIERI BT Uh SSERV QT | (SR Uh 9T 1
I UH qreg H R0
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Mention one example of Public participation in FireManagement
(Answer in one word or in one sentence)

S9 UeY BMEH &1 A foRau 1 ydsie & SART Heal 2 |
(STR TP ¥ IT Ud d19d H TIRIY)

Name the plant hormone which stimulates fall of.I¢Answer in one
word or in one sentence)

AT H 9= BT o7 IR o Bl € 7 (SR Udh I AT UHh
g H SIfT)

How is the sex of the child determined in humamgei? (Answer in
one word or in one sentence)

FAdT AT URH ARNERN A 3T T FHST B (STR 30 | 40
Ieel H SIRTY)

What do you mean by sensory and motor neuronsswanin 30 to 40
world)

RETOT fohar e 9 6 9aR < € ? (STR 30 9 40 ¥l H
)

How is the process of pollination different fronrtiization? (Answer
in 30 to 40 world)

T BT AfS B9 UH Ul WR B 94l Sfial B G B Q|
(TR 30 ¥ 40 ] H <IR)

What will happen on removing any one organisms imoghic level.
(Answer in 30 to 40 world)

3o oRa @ &fad gAR forv foamar &1 favg @t € ? (SR 30 9
40 vl H <IR)

Why is damage to the OZONE Layer, a cause for aoncAnswer in 30 to
40 world)

ST ATl B ERET0T B SYHTl U ford |
Write three effective measures of conservation atewresources.
T Uh fadell iR TS & YT bl AT 319 HEl o Fhdl & ?

Can be wing of a butterfly and the wing of a batcbasidered homologous

organs ? Why.

TAR IRR H AR & HH & 7 g™ & Fdhd & ?
What would be the consequences of a deficiencyeaidglobin in our
bodies?

() AFTg IS T BT AHifebd o 9187 |

(b) AT H QIR UREART B ARAT HITY |

(a) Draw a labeled diagram of Human Excrefaygtems.

(b) Explain double Circulation in human being.

34T OR

() fH¥l g &1 IFAT BT guiF BRIy

(b) g T § 7 39 fafdy g1 g8t # 99 &1 9 |

(a) Describe the structure of a flower.

(b) What is budding ? Discuss reproduction in hydraulgh this process.

w

3+2=5

3+2=5
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